OO0DO0bO0ooboOobooooD20230b AD0DOOOOO
0000020240 103100500600000000010000000000

oo0ooo0oooooooooon

gboooboooboobooobooboboobooboobooooboboobooobooooobooon
0oobodbo0b0d0U0UOmakeldn, v OO ODOODOODvOOOOD nO0ODO0OO0O0DOOUOmake2d(n,m) U
gbobobooUnUmdb200000000000000000000000000ODOO

001

(1) 00000 issseven() D00 n 00000 70000000  gef is seven(n):
0 True 000 False 1000000 (0)~(0)00000000  return n ==
000 True0 00000000000

(0) is_seven(6) and True
(O0) is_seven(7) or False
(0) is_seven(8) or True
(0) is_seven(14) or is_seven(7)
(0) is_seven(77) and is_seven(7)

def is_even_number(n):
(2) 0000 a0000000 (2000000D0DODOO)ODOOO return

000000 n00000nmO00C0000 n %mO0O0000O0OO
0000000 is_evennumber(n) OO0 O0OO0OO

(3200000 n0000000 100000000000000  4ef min factor(n):
000 min_factor(n) OO0 O0000O0O0O0O0OOO0ODOOO nOO for d in ra_nge(Q, n);

0oooooon if[ B |

return d
(4)DDDDD mark even OO0 0O0O0OO00OOO0OOO0O0OCOOOO

0000000000000000000 NO len(A)=NODOOO
0000ADDD00000 ADOOODDOO (True 000 False) O
00000000

mark even(A) DO DDO0O0OOOis evennumber DO OO ODOO
D00 C |000O0Omarkeven 00000 ADDOOOO
0 False 0000000000000000000000] D |
ooooo

return n

def mark_even(A):
for k in range(0, len(A)):
A[k] = is_even_number (k)

(5)J0000 mark even2 0000000000000 OOOO  def mark_even2(A):

00 k=0

mark even2(A) 00000000 Alk] = True 00000000 while k < len(A):

00] E |00000markeven200000 ADOOOOODO Alk] = True
k=k+ 2

False 1000000000000000000000
0oooo



(6) 000 (000000)0 True 0000000000000
00000 ADO0OO0OO0O0OO FalseJOOOOOODOO0O0O
2<n<NO0OOOOn00000 00000 Aln] O Falsel

def mark_multiples(A, p):
00000 TreeDOODOOOOODOODOOODO AfO] O AM] O

k=px*x2
000000000000000 vhile k < len(A):
(a) 000 markmultiples(A, p) OO O0O0O(G) O A[k] = True
mark_even2(A) 0000000 1~20000000 k=k+p
(b) 000 mark composites(10) OO0 OOOOOO AOO def mark_composites (N) :
U0 Omarkmultiples OO A[k] = True UOOOOOODO A = makeld(N, False)
gboooobooboobboobooboo for p in range(2, len(A)):
(c) mark_composites 100D OO0 A[j]1 0 True 0000 mark_multiples(A, p)

Alj*2] 0 True 000 (30 2<j<N/2000)00000 return A

U mark multiples UODOOOO0O0O0O0O00O0O0 2~3000
oood

(7) mark_composites 000000 markmultiples 0000000000000 O0000O0O0OO0O0OO
oobooooooooooooooobooboooobbooboo obobobooobooobbobboDbooDo
gobooooooboobobooooo 2~30000000

(a) for OO0OO0O if O0: D000O0O markmultiples(A, p) OO0O0 pO0O0OOOO0O

(b) for 000D range(2, len(A)) D0OO0DO0OODDODOOOODO pO0OOOOOOOO

0g 2

gboooboooboobooboboobooooobbobbooboboobooboobooboooobooobonoon
gboooboboboboooboobobooboboboobobnxndbobo0bdn0bODO
goboobobobobobobobotbobobobobobooboobobboobob010obobobOoboOoo

(Q def is_safe(board, i, j):
n = len(board)
Q # 000000 oo0oooooooo
(Q for k in range(0, n):
if boardl] A Il B [I == 1:
(Q return False
01:00000000000000 if boardl| C [ D I == 1:

return False
# 0000O00OO0OO0O0ODOOoOoboOooo
for k in range(0, n):
if (0<=1i-k<mnand 0<=3j -k <n and

QUOOODDOOO

0[1]0]0 board[] E [ F I == 1):
return False
010/0]1 if (0 <=1 +k<nandO<=3j+k<n and
1107010 boardﬂ G ‘]ﬂ H ‘ == 1):
return False
O () ]' 0 # 0000000000 0000cooon
02 010000020000 # 0000
board 0 O. return True

(1) 000 issafe00 0000000000000 OOO0OODOOOOOOOOOODOOO20000 board



O0idj00000000000O0 veard[il[jl0 1000000 OOUOOOO20000DDO 10 j0O0
gbooobodboboobobooboboboboobobdilissafeld TrueOOOOO0OOOODO False
goboboOo0obOo0obnissafeddnogonon

(2) 000 solvengunaive 0000000000 OOOOOOOOOOOOUOOOOODOOOOOOOO
000000O000bbO000bO00bo0obUoobUUbgetpermutations(n) 0 000 n-1000000
000000000 get_permutations(4) O0 [[0,1,2,3]1,[0,1,3,2],...,[3,2,1,011 0000 (x) 000
0000 queens O [0,2,3,1] 0000 solve ngnsub(board, queens) 0D 0D0O0O0OOOO0OODOOOO
O000Ovcardd00000O0OVboard0 000 100000000O0DOO0O

def solve_nq_naive(n): def solve_nq_nsub(board, queens):
candidates = get_permutations(n) for j in range(0, len(queens)):
for k in range(0, len(candidates)): i = queens[j]
queens = candidates [k] if is_safe(board, i, j):
board = make2d(n, n) board[i] [j] = 1
if solve_nq_nsub(board, queens): # (x) #i0 j00000000000
return board else:

return False
return True

(3) 000 solvenqUO0O0Osolvenqsub0 000000000000 OOSsolvengnaive 1O OOOO
0000000000 solveng-sub(board,j) U000 board jOOOOOO0DOOODOOOOOOODO
0000 True00O00OD0O0O0OO0O0ODO FalseODOOODO 300solvenq(4) D00 OOsolvengsubOOO
0200000000100000000000O00COsolvengsub(board,0) J0000O000 O0OODO0O
o0bo0o00boo0o0bObo2000 solveng-sub(board,1) ODOUOODOOsolvengsub 3000 4000
O000000OO0Oboardd j)00000000O0Obeard0 000 100000000DOODOO

(4) solvengnaive 000000 Osolvenq0 0000000000 OOODOODOOOO

def solve_nq(n): 1000000oo

board = make2d(n, n) solve_nq_sub(board,0)
if solve_nq_sub(board, 0):

return board

def solve_nq_sub(board, j):
# 0000000000DOO000 True
n = len(board)
if j >= n:
return True i}
for i in range(0, n):
if is_safe(board, i, j): 2000oooon
#10300000000000 solve_ng_sub(board, 1)
board[il[j] = 1 Q
# j+10000000
if solve_ng_sub(board, j+1):
return True

else:
#i0 jO000000000DOO0ODOO
board[i] [j]1 = 0 0 3: solvenqUOOOOOO
return False solvengsub 000000



g3

()xO0n00n000000000000000 powdO def pow(x, n):

0000000000 powO*x+0 000000000 if n ==

return 1.0
(2) 00 pow0 nO0D0D0D0D0D0D0DOD r = pou(x, n // 2)

ifn% 2 ==0:
(3) 00000000000 polyildpoly200O0DOD 2

t A

0000 keisuD0000000000000000000 elz:_um
000000000000000000000000000 return [ B |

0000T[1,2,31 0000 22 +2x+300T([-2,0,0,5]
0000 -2 +5000000000 xO00OOD0O0OO def polyl(keisu, x):
02:0000000000poly1([1,2,3,4]1,5) 0000 r=0

1.5%42.52+3.5! 4400000000 poly20 polytd  T°F 1 in+r;n59(?f]lin(keisu))’ o
=r eisuli ow(x, -
0000000000000000poly2([1,2,3,41,5) : P

return r

000000000 (e +2)z+3)z+400000
(1-542)-5+43)-5+4000000 def poly2(keisu, x):
NkeisuD 00 mOO00000000O000000 y T = keisul0]
(4) keisu m poly for i in range(1l, len(keisu)):
000 poly20 00000000000 rz[::ﬁ

127 ] ) return r
(5) 000 fi(z) = 202! + > 205 0000

1=0

£1(0.5) =1+ 128 - 2753 = 1,0000000000000142 0 00000000000

(a) D0 polyiO0OO0O0OCODOOOOCODO1.0000C0O0O0O0O0DOOOOOOOOOODOOOODODOOO
gboooooooooooooooooooooooooooooo

(b) 00 poly2 0000000000000 000DO000D pelyl00DDOODDOODODOOODO
O000000000000000000000000000000000000000000000
D0000000000000O0o0on
(6) 000 foz) = 2 —1.99999992° 0 0 0 O f2(2.0) = 0.0000001 x 2% =0.0001024 000000000
o000
(a) 00 polyil 0000000 D0DOO0NO0.000102400000059788 10 0 0000000000000
0000000000000 0000000000000000000000000000
(b) 0D poly2 0000 0000000000000 O000D polyl00D0DOOD0DOOODOOO
O000000000000000000000000000000000000000000000
00000000000000000



